
KWARTAAL 1: Werkkaart 1 

Graad: 6 

Optel, aftrek, vermenigvuldiging, deling 

Wat moet jy doen? 

 Los die leidrade op om die blokkiesraaisel te voltooi.  
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 Dwars  Af 

3. 7 000 + 12 300 + 40 1 720 800 – 120 900 + 5 

5 (18 × 100) ÷ 600 2 50 500 – 15 500 

6 8 000 ÷ 4 3 100 500 + 25 500 

7 (20 000 × 3) – 14 500 4  1 000 + 30 500 

9 72 000 ÷ 900 6 (40 × 300) ÷ 60 

10 (6 × 500) ÷ 150 7 100 000 – 55 000 

12 200 × 10 – 200 8 9 000 ÷ 300 

13 (200 × 30) – 2 500 11 (5 000 × 70) ÷ 1 000 

15  125 × 50 12  400 × 70 

16 602 14 10 000 ÷ 100 




